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Choose the alkene(s) that could be used to produce 3-methyl-3-pentanol as the

major product of the following reaction.

, 1 Hg(OAck, H,0
) 2 NaBH,, NaOH
OH

c(A)1only c(B)2ony ¢ (C)3ony c(D)1or2 c(E)20r3 c(F)1,20r3

]

How to Reach Us
Todd's Test Prep



file:///
mailto:?body=http://orgoreview.com/question/a3dfcc2a5aa04f869fc2b07ced6bc9fb/
file:///

2255 Glades Road
Suite 324A
Boca Raton, Florida 33431

E-mail: help@orgoreview.com

Links
Contact

Terms

Privacy Policy

follow us

Copyright 2025. All Rights Reserved.



mailto:help@orgoreview.com
file:///contact/
https://www.orgoreview.com/terms
https://www.orgoreview.com/privacy-policy
https://www.youtube.com/@orgoreview8403
https://www.facebook.com/profile.php?id=100083394579837

	ORGOREVIEW
	Question Vault


